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QUESTION 1

Which protocol can be used to encrypt packets on the Internet? 

A. SNMP 

B. HTTPS 

C. TFTP 

D. HTTP 

Correct Answer: B 

HTTPS, which stands for Hypertext Transfer Protocol Secure, makes it more difficult for hackers, the NSA, and others to
track users. The protocol makes sure the data isn\\'t being transmitted in plain-text format, which is much easier to
eavesdrop on. 

 

QUESTION 2

In addition to switching, multilayer switches also: 

A. Provide Layer 3 routing functions. 

B. Interface with CAT3, CATS, CAT5e, and fiber optics. 

C. Support 10 MB, 100 MB, and 1 GB local area network (LAN) ports. 

D. Operate by using only Layer 1 and 2 protocols. 

Correct Answer: A 

 

QUESTION 3

Which of these cable types transmits data the greatest distance? 

A. Multi-mode fiber 

B. Single-mode fiber 

C. Cat5e 

D. Cat6 

Correct Answer: B 

When working with distances up to 2 km, use multimode optical-fiber cable. 

Like multi-mode optical fibers, single mode fibers do exhibit modal dispersion resulting from multiple spatial modes but
with narrower modal dispersion. Single mode fibers are therefore better at retaining the fidelity of each light pulse over 
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longer distances than multi-mode fibers. 

Incorrect: 

Cat5e and Cat6 max cable length is 100 metres. 

 

QUESTION 4

You run the ipconfig command. The output is shown in the following image: 

From these settings, you can tell that the computer: 

A. Will have limited Internet access 

B. Will have full Internet access 

C. Will not be able to access the Internet 

D. Will not be able to access the local network 

Correct Answer: A 

 

QUESTION 5

Your home computer is having problems accessing the Internet. 

You suspect that your Internet router\\'s DHCP service is not functioning, so you check your computer\\'s IP address. 

Which address indicates that your router\\'s DHCP service is NOT functioning? 

A. 169.254.1.15 

B. 172.16.1.15 

C. 192.168.1.15 

D. 10.19.1.15 
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Correct Answer: A 

169.254.1.15 is an APIPA address. An APIPA address is used when the DHCP server is not available. 
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